
Time: 10 Minutes Paper English 7 (T-1) Total Marks: 10

4th Month, 4th Week, 4th Day

Syllabus: Unit # 8: Complete Exercise. Pair of words (21-30)

Q.No.1. Choose the correct options. (3)

1. Who is Lord Higa?

(a) The ruler of the town beyond the hills (b) The farmer's father

(c) The young lord's uncle (d) The wise old man

2. What is the antonym of the word 'smart'?

(a) brilliant (b) clever (c) stupid (d) slim

3. Identify the figure of speech: "The house was a zoo"?

(a) Metaphor (b) Simile (c) Personification (d) Hyperbole

4. "Life is like a box of chocolates." Identify the figure of speech.

(a) Metaphor (b) Simile (c) Personification (d) Hyperbole

5. What kind of figure of speech is used in the sentence "Her eyes were like

diamonds"?

(a) Metaphor (b) Simile (c) Personification (d) Hyperbole

6. How many syllables does the word 'beautiful' have?

(a) 2 (b) 3 (c) 4 (d) 5

Q.No.2. Make words with '-able', '-ible', '-ably', '-ibly'. (4)

-able -ible -ably -ibly

Q.No.3. Answer the following questions. (3)

• Why does the farmer take his mother to mountain?

• What causes the young lord to spare the farmer's mother?
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